LONG MULTIPLICATION

2-DIGIT BY 2-DIGIT

WORKSHEET - 8

51 42 87 34

x 66 x 53 x 29 x 67

306 126 783 238

+ 3060 + 2100 + 1740 + 2040
= 3366 = 2226 = 2523 = 2278
78 93 62 27

x 19 x 45 x 50 x 32

702 465 0 54

+ 780 + 3720 + 3100 + 810
= 1482 = 4185 = 3100 = 864
25 11 92 53

x 82 x79 x 85 x 70

50 99 460 0

+ 2000 + 770 + 7360 + 3710
= 2050 = 869 = 7820 = 3710
84 25 63 55

x 92 x 40 x 14 x 28

168 0 252 440

+ 7560 + 1000 + 630 + 1100
= 7728 = 1000 = 882 = 1540
81 15 36 12

x 36 x 41 x 18 x 75

486 15 288 60

+ 2430 + 600 + 360 + 840
= 2916 = 615 = 648 = 900

MATH - DAD.COM



